for NVIDIA GEFORCE RTX 2080
Bitspower® T

(1) BP-VG2080RD-AL.5 14

@ 1.0 EXREHBAH 5k

@ 2.5 EXREHBA 1k

Step 1 @ umEs 1%

(&) M2.5x 6 BE:KiB# 16 %

(®) M3x8 ERiBs 4%

() BitspoweriiR 1R

» Accessories
‘. (1) BP-VG2080RD-A1.5 1 SET
/ @ 1.0 mm Thermal pad 5 PCS
I‘ @ 2.5 mm Thermal pad 1 PCS
5 @ Booster Screw 1PCS
;l 1 (6) M2.5x6 mm Screw 16 PCS
e @ M3 x 8 mm Screw 4 PCS
. j’ ~.;¢“"”/ (@) Bitspower baffle 1PCS
[[as

B T AR E A R B RYDRGBIETE @ BP-VG2080RD-ALS 14

@ Digital RGB PIN on motherboard @ 1.0 2KRSHRBR 5k

2 pEmaRnasnorEE () 25 BKSRER 15

3 @ zEBy 1%

(6) M2.5x6 E:Kigy 16 %

(6 M3x8Ekigs 4%

() Bitspowerti#R 1R

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& KRTREN MR ERURBRNNT - MBENOASITEN - RIS SEGFUIIRE



= ®
Bitspower
B3 /R~ / Thermal pad / SRE AR

58 S 11.50 11.50

19.50
20

35

91

o
43

19.50

30

19.50

86

|:| 1.0 Z3REHBEA /1.0 mm Thermal pad / 1.0 E:kSm A

VA 12,5 2XREHBE /2.5 mm Thermal pad / 2.5 2XKSHBR

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEOASTEN - ERACARGURYRE -
& ARTUREN T mENRITBRURBRENRT) - WAENSABITEMN - FRAESEFUSIYNE -



for NVIDIA GEFORCE RTX 2080Ti
(s

Bitspower®

(1) BP-VG2080RD-A1.5 14
@ 1.0 EXREHESF 5h
@ 2.5 EREHBA 1hR
@ zEEH4 1%
(B) M2.5x 6 E:KiB#k 16 %
(6) M3 x8 Ekig 4%
@ Bitspowertg ik 1R
O
Accessories
(1) BP-VG2080RD-AL.5 1SET
@ 1.0 mm Thermal pad 5PCS
@ 2.5 mm Thermal pad 1 PCS
@ Booster Screw 1 PCS
(6) M2.5x6 mm Screw 16 PCS
(6) M3 x8mm Screw 4 PCS
@ Bitspower baffle 1 PCS

® s
M2.58208

@ M2.5 nut
e
BP-VG2080RD-A1.5 14
L IRELE it 5 RIDRGBIEIE @ = e
@ Digital RGB PIN on motherboard @ 10 =RSAER 5h
| or other equipment. = e
ﬂ BB IR E 2 B RIDRGBIEIE @ 2.5 BAKSRER 1k
@ zsEy 1%
d (B) M2.5x6ZKiRL 16 %
(® M3x8=Kigs 4%
@ Bitspower#Hi 1R

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE



N

Bitspower®

B R R~ / Thermal pad /

BRR

13

11.50
58 S 11.50
26
wn
- o
© N
S
9 o
o 1 N 8 o~
o 3
15
5.50
&
5.50
1 -
15
58
8

|:| 1.0 Z3REHBEA /1.0 mm Thermal pad / 1.0 E3kSm A

VA : 2.5 2XREHBE /2.5 mm Thermal pad / 2.5 2K S

FRERBHERNRAELURBENES - MEEHOASITEN - EREACARGFURYRE -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

ARTURENF mANRITBRURBRENRT) - WAENSABITEMN - FRAESEFUSIYNE -




Bitspower®

OO0
X0
XK

(XXX

NVIDIA GEFORCE RTX 2080Ti

Applying the thermal pad and thermal paste on correct positions.

=}
Using appropriate amount of thermal paste.

SRERIEMN RIS
BEERSME
[ 1 mm Thermal pad
[] 2.5mm Thermal pad
R K - MEMBAASHEREEERONE L - RN  ERAROERT
B2 BIHEARNE - BREBAAREBEIN BB ERATSRENS AR

B 1 mmEgaA
Before filling in the water, please make sure all the components are installed correctly.

[] 25 mmEszk
To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

AN

AR - BKAD - BARIAASHCRREERNUEL - £RFEN - BFKRHERT
HT24/N 9K - BRERKEREETEN - BERERKTSHBMBHERT

V1/%—HhR



Bitspower®

R BE R (B4R
Original baffle(Not Included
R R A BFE(

BREERERERASN
Installation with the original backplate
BEREWRERAAN

\.

DRGB

&

J

XERANRBERR R ERRUEMD

The original thermal pads on the back plate should
be placed back to their original position.

BRANR SRERBZRMUEND

B BT RS E MR HRODRGBIGE
Digital RGB PIN on motherboard
» Or Other equipment.

BB REE M2 & ADRGBIGE

for NVIDIA GEFORCE RTX 2080Ti

VEOO®O®E QIOIOICIOIONS;

QIOICIOIOIONS;

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

2 FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -

FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE

(e

BP-VG2080RD-A1.5
RRRIRAHA

REER

RRRIR#4B

M3 x 8 ZKIR#
M2.5 28

Accessories

BP-VG2080RD-A1.5
Original screw A
Original backplane
Original screw B
Original screw C
M3 x 8 mm Screw
M2.5 Nut

(WSS

BP-VG2080RD-AL.5
RITIRZA
RI&ik

RITI84£B
FRIT3822C

M3 x 8 EKIRLL
M2.5 1282

14
14 Z (A E15)
1 R(R &)
2 Z(FEE)
11 X (A E18)
2%
1@

1 SET
14 PCS(Not Included)
1 PCS(Not Included)
2 PCS(Not Included)
11 PCS(Not Included)
2 PCS
1 PCS

14
14 R(F&1E)
1 R(FEHE)
2 2 (A i)
11 2 (F81d)
24

11



Bitspower’

A& : BitspowerZZ HEEERZEK - AFK - MABitspowerfIREER KL RER ; MEFBITERNKIREMERERE - KBEE KRB
A BALER KEERRAZHEZEUBRKERAEAURNZEER - HEZRTEEREERER -
REKE - BAMEKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
EE : BitspowerZ2WGHBREERAZIEK « AEK - MABitspowerfIRFEANKLZRER ; MEFBITEMMNKLIRSHBEEHE - KEEE KRE
A MALER - KEERRAZHEZEURRKEREERURAZOERN - HEEBITREERTmRE -

REKE - BABHKRER -

AR HKED - AEERASHCLRELENUE L - EAREW - BEFRKRERT - ET24)0ENKIE - BRERKELEBHIN  BRRERKMERNEMIHNIEER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR HKED - BRBATAESHCLREERNUE L - EAFEN - BFOKROERT - #7240 NHKNE - BRERKEREEAEN - BRRKERKMNSREBMBAHNIRL -

FRERBHERNRAELURBENES - MAEHOASITEN - EREASZARGUBYRE - Vl/%—_ﬂﬁ
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

AREREN MR EXURBRNNT - MBENCASITEN - RISk GFUIIRE



